General Risk Assessment Form
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	Date: (1)




	Assessed by: (2)



	Checked / Validated* by: (3)

	Location:  (4)


	Assessment ref no (5)


	Review date: (6)


	Task / premises: (7)

Use of icemaker and transport of ice




	Activity (8)
	Hazard (9)
	Who might be harmed and how (10)
	Existing measures to control risk (11)
	Risk rating (12)
	Result (13)

	Use of icemaker and transport of ice
	Slip hazard – due to spillage of ice or leak from ice machine
	User and those in the vicinity – muscular skeletal  injuries from slips  / trip or falls 
	Users are trained in use of ice machine and transport of ice by supervisor.

Care is taken to remove ice with the scoop, and is place in a designated ice box/ container.
All spillages are cleaned immediately with paper towels or a mop. A wet-floor sign is displayed when appropriate.
Ice is transported in a suitable container, which is not going to cause drips.

Any leaks (e.g. pools of water coming from the ice machine) are reported to the responsible person, the leak is prevented from spreading.
Never use ice machines stored and used in labs for consumption or cooling of food or drink.


	Low
	A 


	Action plan (14)

	Ref No
	Further action required
	Action by whom
	Action by when
	Done

	REF 1
	
	
	
	

	REF 2
	
	
	
	


	Authorisation  by PI Manager   (15)
I confirm that I have considered and understand the experiment and the associated hazards. I am satisfied that all of the hazards have been identified and that the control measures to be followed will reduce the risks to as low as is reasonably practicable. 



	Print name:
Signed:

Date:




Validated by:  (16)


Signature: 


Date:

	Declaration by researcher and PI / Line Manager (17)
I confirm that I have read this Risk Assessment and that I understand the hazards and risks involved and will follow all of the safety procedures stated.




	Name (please print)


	Role
	Signed
	Date

	
	
	
	

	
	
	
	

	
	
	
	

	
	
	
	

	
	
	
	

	
	
	
	

	
	
	
	

	
	
	
	

	
	
	
	

	
	
	
	

	
	
	
	

	
	
	
	

	
	
	
	

	
	
	
	

	
	
	
	


Result:  T = trivial, A = adequately controlled, N = not adequately controlled, action required, U = unknown risk


